Medium Bi-Pin Lampholders

594 Series Thin, Rapid S tart, Lampholders

Specifications
Rating: 660 Watts, 600 V

Listing:
Mounting: Butt-on or bracket mounting

UL File No. E-13408; CSA File No. LR95423

Wi

'F

.

ring Devices

O,
@

NRTL/C

Materials:

Housing: White urea

Contacts: Copper alloy, surface wipe configuration

Termination:

stranded and tinned lead wires, 1/2” stripped, standard.

Lead wires 9" (228.6 mm) long, 18 AWG

Wire Rated: AWM 600 V, 105°C (221°F).
Bracket s: Cold rolled steel, zinc plated.

- 138" —»

—>
Contacts —Pl

| 594

¢ 11/32"
~4—3/64"

TKULR I ?/
9/64" Dia Thru *
Or 1 35/64" v N4
8-32NC 15/32" f
rappe Thru ﬁ @ P e
(Suffix “T") * 5‘\
3/8" C' Bore = Yo  —F N\ +
x 3/64 Deep f ‘ ‘ — —
3/64" Il 9/32" C' Bore
L i| x3/32 Deep
TT 19/32" T]— Wire @ < L
< —> Leads — ‘ N
53/64"
‘ - Bad to Back Spacing
. Nominal Lamp kength minus 1/16"+ 1/32"
Kulka ® 594 Series = >
594.BR13" Below panel, #6 screw
Part No. 594.BR14" Below panel, #6 screw
594 .140” Dia. clearance hole ]
94T 4832 T d thread 594.BR15" Below panel, with #6 screw and 0.140" boss
. - apped threa
+ .o
594.BR1"  Below panel, with #6 screw and 0.140" boss 594.BR16 _ Below panel, 0.136 dia holes (two holes)
+ .o
594.BR2' Below panel, 0.144" dia. hole and 0.140" boss 594.BR17  Below panel, 0.144" dia hole
504 BR4' Below panel, 0.144" dia. hole 594.BR18" Below panel, 0.144" dia hole and 0.140" boss
T
594.BR5' Below panel, 0.144" dia. hole and 0.140" boss 594.BR19  Below panel, #6 screw
+ .o
504 BR6' Below panel, 0.171" dia. hole 594.BR21" Below panel, 0.171" dia hole
594.BR7" Below panel, 0.171" dia. hole and 0.140" boss Mounted: Center of lamp to top of bracket,
t mounting surface = 1.03”
594.BR8 _ Below panel, #6 screw All Brackets listed at right are mounted
594.BR10"  Above panel, 0.171" dia hole at right angle to lampholder

Packed 500/ box. Special lead wire lengths available upon request, consult sales department.
Brackets are not sold separately.

Tsupplied with No. 4/36 x 3/8" mounting screws in bulk (p/n 8043.612.002)

A-34

WWW.VOLTARC.COM



WNOD DHVLION MMM

GE-V

BR1

3/8"
—11/41

N7

—>| 3/8" <4— — 3/8"t —| 3/8" l— — 3/8"t | g |e—
- —>1/4" - —(1/4" —»1/4"1— 3/8" <4—
n {
% % - % 9/16" %
BR4 BR5 BR6 BR7 BR8 BR10
( W ( v
{ { 15/32")
‘ ‘ I ‘ ‘ I ‘ ‘ I ‘ I Tl:
A ] o \ 1
1144 Dia.140 Diy _14 Dia ﬁ 71 Dznzoia #6/32 171 Dia
Hole  Bos Hole Hole  Bos Hole
| [ | [
17/32"
17/32" |t— —{ {7/30" €— — S/SE —| o —| o l—
3/8" <— 3/8" [— 1/4' 3/8" [*— 14" |[<—
e k3 iR
"I % 37/64" % " 916" % /i6” %
\/
P { f
— — [E— | SE—
BR16 BR17 BR18 BR19 BR21
i77777 B /{ 15/32} 15‘/32"
9/16" 41/64" 51/64" L
#6/32 .140 Dig| | ‘ | 4l i #6/32 171 Dia
"Bos I '21?_'6025 144 Dia f /‘ J Hole
| 140 Dia | | |
Bos

LUOD salss 165



